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A REa EALEE L HLAL LA
ARL X523 FLIR =555 5 () kg 330.00
2| HELZ FLIR = S5 5 (%) b 3.50
3| o2& () a—URih kg 1,560.00
4| T HEZL FLIR =505 3 (B kg 1,050.00
5lH0L (k) Hiil ik kg 97.00
6L (BK) Al kg 383.00
=~ FLIR =55 75 28 (BR) kg 585.00
8|72V B (BR) 7 vwaa Kig/KpE kg 2,950.00
9| =—LHA FLIR =5 75 2 (BR) kg 345.00

10| L HER—T D (F)a—UR M N 1,080.00
1BIZIEICA LA FLIR =5 7 R (BR) kg 325.00
12|45 BRELESE H ARS8 £ (BR) 1] 47.00
13|y — A o B —1 (BK) kg 1,480.00
41 FHAE FLIR =557 5 (1) kg 600.00
15| A& (B Al kg 128.00
16]125 FLIR =557 5 () kg 700.00
17|LLEY ¥+ FLIR =257 5 () kg 3,250.00
18] F 32 FLIR =557 5 (1) kg 120.00
19|F X FLIR =5 7 58 (BR) kg 92.00
20| i I FLIR =557 5 (1) kg 520.00
21[LHFA FLIR =5 5 (%) kg 270.00
22[n 5 FLIR =57 5 () kg 300.00
23| KR FLIE =55 21 (BR) kg 90.00
24T T 4 FLIR =557 3 () kg 1,410.00
25|Z1FH (k) il Bk kg 174.00
26|41 FLIR =55 3 () kg 320.00
N EX FLIR =505 3 (BR) kg 120.00
28[1z izl FLIR =55 5 () kg 420.00
29| # I FLIR =5 5 (%) kg 360.00
30|71~ FLIR =555 5 () kg 580.00
31{k~h FLIR =5 5 (%) kg 395.00
32[2=F~k FLIR =55 5 () kg 600.00
33/ FLIR =5 5 (BK) kg 490.00
34| Ao FLIR =555 5 (1) kg 890.00
35| EHEE (BK) Al kg 780.00
36| DXE FLIR =5 75 2 (BR) kg 240.00
37VAT FLIR =505 3 (BR) kg 570.00
8| ALvTFLLY (k) Hil ik kg 418.00
9[LES (BK) Al kg 418.00
40|/ XA T T )V (B Al kg 218.00
41| ESBAE FLIR =50 5 (%) kg 3,450.00
42|17 A T )— LR =5 7 28 (BR) kg 650.00
43| T (F)=—UR M kg 975.00
4414 H A b B —b (BK) kg 2,350.00
45| A b B —b (k) kg 1,030.00
467 LA b B —b (BK) kg 1,950.00
4TRSS —z b B —b () kg 1,630.00
48|XIX7 41 —B (KR) 7o raza kg K pE kg 1,224.00
49| FAHA (BR) 7o ma KiGKE e 327.00
50[ ¢ A (Bk) 7 vvaa Kig/KpE kg 2,500.00
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Sl{bhsniex () 7R )\& i 1,100.00
52| B (k) Hiil ik kg 298.00
53|IFH A (F)=—UMm ZN 430.00
S54[ L TAADFE (BR) & /b kg 680.00
55| FEH A H AR E & (BR) {E] 1,013.00
56|15 DYV (B)=2—URMN S 375.00
57|V XA Dizh (F)za—URMm ZN 355.00
58| HE L KAR FLIR =55 5 (1) kg 474.00
S9[EDLHIEYIY A b =k (BR) kg 1,000.00
60|F 7 A FLIR =55 75 2 (BR) kg 290.00
61| AL H AR &0 (BR) {E] 33.00
62| 5KF v X FLIR — 557 2 (BR) kg 290.00
63| A AKE FLIR = 5571 5 (1) kg 427.00
64| A=A T — H AR S FE £ 0 (BR) 43 582.00
65|72V A (BR) 7raa KRG /KpE kg 2,950.00
66| IH AL T T A B (BR) 1 75.00
67|EfTETexz Y () IR )\E kg 6,700.00
68|ER7=DH 40 AJEA (¥k) 7o omaa Kig/KE kg 2,450.00
69| FNAIBAL AT —F ) — 2R iG] N 925.00
70| B G AN () =2—URdh A 58.00
BIEIPES FLIR =557 5 (1) kg 480.00
72|DFea—27 L1 (— ) Bl s = ALR S5 2P & 92.00
73| EHL (k) Hiil ik kg 319.00
41405 (k) il Bk kg 1,650.00
7540 Y A b BI—hBR) kg 2,300.00
76| EOY T H A2 100 (1K) kg 794.00
T7EL S RIS b BX—h () kg 1,080.00
78| R —~> FLIE =55 58 (BR) kg 647.00
9T X 2725 (BR) & L& S 225.00
80|fE7L—7 (F)=a—URMm {E 786.00
81|14V —"7H (BR) & L& N 1,100.00
82( Xy FaRL oy H AR E &0 (BR) %N 625.00
83| v\ [ 1 H A # B (BK) 1% 775.00
84[> DAL (BK) B FH pE )5 kg 100.00
85| 4xHFA E (B)=2—URMN S 220.00
86| KT K& H AR E & (BR) 13 475.00
87|71 F (B)=2—URMN S 925.00
88[ LAY H AR E &0 (BR) kg 3,250.00
89|t —~ LR =575 5 (BR) kg 647.00
90[/k 32 FLIR = 5571 5 (1K) kg 470.00
[T BV TH H A3 B0 (BK) 13 844.00
92 (K1Y m—AFEI A b B —h(BR) kg 1,380.00
93|4F 7V (— ) Bl = ALR S5 2 P 1 50.00
94| IR AN A — 2T A A H AR/ (BR) 13 1,203.00
95|45 £ (K Al kg 298.00
96| LV 7=lT AL =253 5 (FK) kg 720.00
97|V —TLH A FLIE =5 7 58 (BR) kg 345.00
98| X —= FLIE =55 5 (BF) kg 700.00
99| BEX 7 ALK H AR/ L (B) 1 56.00

INESSS (F)=—URM Gl 614.00
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1012 L E bbb A b B —b (k) kg 1,380.00
102]7 B L U A H AR # B 0 (BK) kg 663.00
103| KT AHL —DFH PP (BR) % 1,150.00
104 | 7 BR ERE RJ5E 78 H A H B (BK) 1% 533.00
105|HEJE L) F H AR EE £ in (BR) 5 507.00
106|=— /VRF AT )L—> FLIR =555 5 (1) kg 980.00
107| 4 FLFE KD (k) & -2 13 975.00
108| W B 7=Z a0 (B)=2—URMN S 2,210.00
109\ B L7 74 (F)a—URMm N 866.00
L10|EENUICANCRL v v T H AR/ oL (BF) N 775.00
1B 0% (k) & -2 b 13 1,150.00
12| e & E B FLIR =5 75 2 (BR) kg 750.00
L13| W IRR SHTED (F)a—UR M 43 616.00
114|355y AT—% b B — () B 95.00
115|7 )V —F = (Iy A —) (BR) ‘& &5 0% 700.00
116 RBEN DT 4 (q)=2—URM N 726.00
7B ETEa5 2l (BR) & L& 5 860.00
L8|E T — AR A1 b B —b (k) e 145.00
119|735 G LAk} (F)2—UR M A 83.00
120|777 Ry by a—A (— ) B oL v AL S5 2P {E] 78.00
121| 7 e _T ay ik A GS) o 850.00
122|7R ARy R AR FLIR = 575 5 (%) kg 480.00
123|2—b— T LAk (B)2—UR M A 83.00
124 B K D7 A H ARSI B0 (BR) & 58.00
125\ AR A AT () a2—U &M 5 800.00
126/ BREA T E KT H AR KA £ (BR) e 1,300.00
1275 FHhbbAAT —X H b E R —b (k) e 118.00
128|337 D3 (FazaL—h) H AR &0 (BR) 1% 807.00
129| /o A ANAF- D BRL v T (BR) & L& N 700.00
30| S ST (F)=a—URMm kg 855.00
131y 7 B)—DF (AL ) H A% # B0 (BK) s 650.00
1328 E LRy s (k) & 125 ZN 810.00
133|159 F %] KE: FLIR =55 5 (1) kg 445.00
134| N~ A—T7' D (k) & 125 1 1,250.00
135\ HDLEL Iy Y — H AR H B (BK) S 744.00
136|5 Bfas A~ 7 7 ) — (BR) & L& i 280.00
1375 U WkkiE B (Bk) 7 omaa KiG/KE kg 1,840.00
138| A= M kit (F)za—URMm 13 340.00
139[C 30 g, (B Al kg 158.00
140| A—2 A FLIE = 477 5 (BF) kg 250.00
41| =R — R — R H A3 B0 (BK) A 575.00
142 L L LI B Ak} P (BR) & 80.00
143|$R72540 AIEB (¥k) 7oomaa Kig/KE kg 2,450.00
144\ AL A B REX U ps = (BR) {E] 160.00
145\ A7 (B)=—URM 1l 168.00
146|1—ANDLAT A A b B —hBR) kg 1,380.00
AT DOIOT)—I—KRL vy (FR) & L& Z 810.00
148| ' T80 875 (B) ‘& L& 43 280.00
149/ METF-O) VAL A= 2 (q)=2—URM 13 290.00
150 /N & AR (F)=—URM 43 141.00
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151[x>F 0, FLIE =43 5 (BF) kg 340.00
152( 7V —2 T AT H A LI =55 3 (BR) kg 1,500.00
153|LALDT FLIR = 5571 5 (1) kg 670.00
154 FEBEHL (— ) B fir oL = ALIR S5 P 1 95.00
155| v 2 —L —3F (F)za—URMm {E] 210.00
156|p/ TR DFHE H A% B0 (BK) S 650.00
157|EATFHAGAAF—R (— ) Bl = AL S 2P b 50.00
158|m/NEE H A H Bdh (BK) 4 750.00
159|721 F D iR (k) & -2 b 13 1,375.00
160|752 ik (B)=2—URMN S 395.00
161|7FAR =V H AR &0 (BR) 5 588.00
162|2—b—PI—3Iv 72D FHE U P = (1K) 43 1,910.00
163|m PO L G H AR E & (BR) 1 738.00
164|216 H AR5 H B0 (BK) kg 104.00
165 /N 2 — H AR E B0 (BK) {E] 26.00
166|725 3 Mk (q)=2—URM 13 19.00
167|720 Ra— 2A—7 (k) EaAFLIR = 67T {E] 112.00
168|/HIEIFLAEL H A2 B0 (1K) kg 694.00
169|°hbEkEY — (F)2—UR M A 168.00
170[7 VY F—R 4 —H— (BR) B A LR 3P A 125.00
171|2FEL b B —b (BK) kg 9,200.00
17 2| Y e L1 1A R () a—URfh A 368.00
173| KREI—h (B)2—UR M A 185.00
174 o &2 A ESE Z 13 A (BR) B A LIRS & 176.00




